

205
9/13/79

**ERGODIC THEOREMS FOR
NONLINEAR CONTRACTION SEMIGROUPS
IN A HILBERT SPACE**

by

Hans G. Kaper and Gary K. Leaf

MASTER

DISTRIBUTION OF THIS DOCUMENT IS UNLIMITED

The facilities of Argonne National Laboratory are owned by the United States Government. Under the terms of a contract (W-31-109-Eng-38) among the U. S. Department of Energy, Argonne Universities Association and The University of Chicago, the University employs the staff and operates the Laboratory in accordance with policies and programs formulated, approved and reviewed by the Association.

MEMBERS OF ARGONNE UNIVERSITIES ASSOCIATION

The University of Arizona
Carnegie-Mellon University
Case Western Reserve University
The University of Chicago
University of Cincinnati
Illinois Institute of Technology
University of Illinois
Indiana University
The University of Iowa
Iowa State University

The University of Kansas
Kansas State University
Loyola University of Chicago
Marquette University
The University of Michigan
Michigan State University
University of Minnesota
University of Missouri
Northwestern University
University of Notre Dame

The Ohio State University
Ohio University
The Pennsylvania State University
Purdue University
Saint Louis University
Southern Illinois University
The University of Texas at Austin
Washington University
Wayne State University
The University of Wisconsin-Madison

NOTICE

This report was prepared as an account of work sponsored by the United States Government. Neither the United States nor the United States Department of Energy, nor any of their employees, nor any of their contractors, subcontractors, or their employees, makes any warranty, express or implied, or assumes any legal liability or responsibility for the accuracy, completeness or usefulness of any information, apparatus, product or process disclosed, or represents that its use would not infringe privately-owned rights. Mention of commercial products, their manufacturers, or their suppliers in this publication does not imply or connote approval or disapproval of the product by Argonne National Laboratory or the U. S. Department of Energy.

Printed in the United States of America
Available from
National Technical Information Service
U. S. Department of Commerce
5285 Port Royal Road
Springfield, Virginia 22161
Price: Printed Copy \$4.00; Microfiche \$3.00

Distribution Category:
Mathematics and Computers
(UC-32)

ANL-79-50

ARGONNE NATIONAL LABORATORY
9700 South Cass Avenue
Argonne, Illinois 60439

ERGODIC THEOREMS FOR
NONLINEAR CONTRACTION SEMIGROUPS
IN A HILBERT SPACE

by

Hans G. Kaper and Gary K. Leaf

Applied Mathematics Division

June 1979

TABLE OF CONTENTS

ABSTRACT.	5
INTRODUCTION.	5
1. The Averaging Process	6
2. Weak Convergence.	7
3. Strong Convergence.	12
4. Examples.	15
REFERENCES.	19

ERGODIC THEOREMS FOR
NONLINEAR CONTRACTION SEMIGROUPS
IN A HILBERT SPACE

by

Hans G. Kaper and Gary K. Leaf

ABSTRACT

Two ergodic theorems are presented for means of nonlinear contraction semigroups in a Hilbert space. These means are generated by a class of averaging kernels which includes the usual Abel and Cesàro- (C, α) kernels.

INTRODUCTION

In their note [3], Brézis and Browder proved an ergodic theorem for a general averaging process for nonlinear contraction mappings in a Hilbert space. We present similar results here for nonlinear contraction semigroups in a Hilbert space. These results include as special cases the theorems of Baillon [1] and of Baillon and Brézis [2] for Cesàro means and of the authors [6] for Abel means of nonlinear contraction semigroups.

Throughout this report, H denotes a real Hilbert space with inner product (\cdot, \cdot) and norm $|\cdot|$; C is a closed bounded convex subset of H . The notations \rightarrow and \rightharpoonup refer to convergence in the norm topology and weak topology in H , respectively.

1. The Averaging Process

For each $\lambda \geq 0$, let $k(\lambda, \cdot)$ be a real-valued nonnegative integrable function on $[0, \infty)$ with $\int_0^{\infty} k(\lambda, t) dt = 1$, such that $\int_0^t k(\lambda, \tau) d\tau \rightarrow 0$ as $\lambda \rightarrow 0$ for every finite t . Such k can be used to define an averaging process on $L_{\infty}([0, \infty); H)$ in the following way. For any given $x \in L_{\infty}([0, \infty); H)$, let

$$(1) \quad y(\lambda) := \int_0^{\infty} k(\lambda, t) x(t) dt \quad \lambda \geq 0 .$$

The integral is well-defined as the strong limit of Riemann sums and defines an element of H for each $\lambda \geq 0$. By analogy with Hardy, [5], Section 3.2, we say that the averaging process (1) is strongly (weakly) regular if $y(\lambda) \rightarrow \bar{x}$ ($y(\lambda) \rightarrow \bar{x}$) as $\lambda \rightarrow 0$, whenever $x(t) \rightarrow \bar{x}$ ($x(t) \rightarrow \bar{x}$) as $t \rightarrow \infty$. Obviously, strong regularity implies weak regularity.

Lemma 0. The averaging process (1) is strongly regular.

Proof. Suppose $x(t) \rightarrow \bar{x}$ as $t \rightarrow \infty$. Then, given any $\epsilon > 0$, there exists a $t(\epsilon)$ such that $|x(t) - \bar{x}| < \frac{1}{2} \epsilon$ for all $t > t(\epsilon)$. Let $M = \sup\{|x(t) - \bar{x}| : t \in [0, \infty)\}$. Without loss of generality we may assume $M < \infty$. With $t(\epsilon)$ fixed, we subsequently choose $\lambda(\epsilon)$ such that $\int_0^{t(\epsilon)} k(\lambda, t) dt < \frac{1}{2} M^{-1} \epsilon$ for all $\lambda < \lambda(\epsilon)$. Thus,

$$\begin{aligned} |y(\lambda) - \bar{x}| &= \left| \int_0^{\infty} k(\lambda, t) (x(t) - \bar{x}) dt \right| \\ &\leq \int_0^{t(\epsilon)} k(\lambda, t) |x(t) - \bar{x}| dt + \int_{t(\epsilon)}^{\infty} k(\lambda, t) |x(t) - \bar{x}| dt < \epsilon \end{aligned}$$

for all $\lambda < \lambda(\epsilon)$, which proves the lemma. \square

Let $\{S(t, \cdot) : t \geq 0\}$ be a continuous semigroup of nonlinear contraction mappings of C into itself. Consider the real interval $[0, R]$ for any $R > 0$. For $x \in C$, let $\sigma_R(\lambda, x)$ be defined by the integral

$$\sigma_R(\lambda, x) := \int_0^R k_R(\lambda, t) S(t, x) dt, \quad \lambda \geq 0,$$

where $k_R(\lambda, t) = k(\lambda, t) / \int_0^R k(\lambda, t) dt$. Since C is convex, $\sigma_R(\lambda, x) \in C$ for every $R > 0$. The sequence $\{\sigma_{R_n}(\lambda, x) : n=0, 1, \dots\}$ is Cauchy in the norm topology of H for any increasing sequence $\{R_n : n=0, 1, \dots\}$. Let $\sigma(\lambda, x)$ denote its limit. As C is closed, $\sigma(\lambda, x) \in C$; $\sigma(\lambda, x)$ has the following representation,

$$\sigma(\lambda, x) = \int_0^\infty k(\lambda, t) S(t, x) dt.$$

The object of this note is to study the convergence of $\sigma(\lambda, x)$ as $\lambda \rightarrow 0$.

2. Weak Convergence

Let F denote the set of fixed points of the semigroup S in H , which is closed, convex, and nonempty, cf. [4], Remark 2.5. We denote by Proj_F the projection of H on F . In this section we prove the following theorem on the weak convergence of $\sigma(\lambda, x)$.

Theorem 1. Suppose $k(\lambda, \cdot)$ is of bounded variation on $[0, \infty)$ for each $\lambda \geq 0$.

Let $v^+(\lambda, t)$ be the positive variation of $k(\lambda, \cdot)$ on $[0, t]$, and let the function $k^+(\lambda, \cdot)$ be defined by $k^+(\lambda, t) = k(\lambda, 0+) + v^+(\lambda, t)$ for all $t \in [0, \infty)$.

If $\lim_{\lambda \rightarrow 0} \int_0^\infty d_t k^+(\lambda, t) = 0$, then $\sigma(\lambda, x)$ converges weakly as $\lambda \rightarrow 0$ to a fixed point of S . This fixed point is also the strong limit of

$\{\text{Proj}_F S(t, x) : t \geq 0\}$ as $t \rightarrow \infty$.

Before considering the proof of this theorem we note that, by [4], remark 3.4 and Theorem A2, there exists a unique maximal dissipative set $A \subset H \times H$ such that its minimal section A^0 is the generator of S on the domain $D(A)$ of A , where $D(A)$ is dense in C . The proof of Theorem 1 depends upon the following lemma.

Lemma 2. Let $\{\lambda_n : n=0,1,\dots\}$ be a sequence of positive real numbers tending to zero. If $x \in D(A)$ and $\sigma(\lambda_n, x) \rightarrow \ell$, then $\ell \in F$.

Proof. Take any $[v, w] \in A$, then

$$(w, \sigma(\lambda, x) - v) = \int_0^{\infty} k(\lambda, t) (w, S(t, x) - v) dt .$$

Now, observe that $(w, S(t, x) - v) = (A^0 S(t, x), S(t, x) - v) + (w - A^0 S(t, x), S(t, x) - v)$, where the last inner product is positive because of the dissipativity of A , cf. [4], Definition 2.1. Thus,

$$(w, \sigma(\lambda, x) - v) \geq \int_0^{\infty} k(\lambda, t) (A^0 S(t, x), S(t, x) - v) dt .$$

By [4], Corollary 3.1, $A^0 S(t, x) = (d/dt)^+ S(t, x)$ for $t \geq 0$, where $(d/dt)^+$ denotes the right derivative, so

$$\begin{aligned} (w, \sigma(\lambda, x) - v) &\geq \frac{1}{2} \int_0^{\infty} k(\lambda, t) (d/dt)^+ |S(t, x) - v|^2 dt \\ &= -\frac{1}{2} k(\lambda, 0+) |x - v|^2 - \frac{1}{2} \int_0^{\infty} |S(t, x) - v|^2 d_t k(\lambda, t) . \end{aligned}$$

Since $k(\lambda, \cdot)$ is of bounded variation on $[0, \infty)$, it is the difference $k^+(\lambda, \cdot) - k^-(\lambda, \cdot)$ of two nondecreasing functions -- viz., $k^+(\lambda, t) = k(\lambda, 0+) + v^+(\lambda, t)$ and $k^-(\lambda, t) = -v^-(\lambda, t)$, where $v^+(\lambda, t)$ and $v^-(\lambda, t)$ are the positive and negative variations, respectively, of $k(\lambda, \cdot)$ on $[0, t]$, cf. [7], Section

42. Thus,

$$(w, \sigma(\lambda, x) - v) \geq -\frac{1}{2} k(\lambda, 0+) |x-v|^2 - \frac{1}{2} \int_0^\infty |S(t, x) - v|^2 d_t k^+(\lambda, t) .$$

Now, let $\{\lambda_n : n=0, 1, \dots\}$ be a sequence of positive real numbers tending to zero. C is bounded; hence, $|k(\lambda, 0+)||x-v|^2 \leq |k(\lambda, 0+)|(\text{diam } C)^2 \rightarrow 0$ and $\int_0^\infty |S(t, x) - v|^2 d_t k^+(\lambda, t) \leq \int_0^\infty d_t k^+(\lambda, t)(\text{diam } C)^2 \rightarrow 0$ as $\lambda \rightarrow 0$, so if $\sigma(\lambda, x) \rightarrow \ell$ as $\lambda \rightarrow 0$, then $(w, \ell - v) \geq 0$ for all $[v, w] \in A$. Since A is maximal dissipative, $A = \{[\phi, \psi] \in H \times H : (y - \psi, x - \phi) \leq 0 \text{ for all } [x, y] \in A\}$, cf. [4], Lemma 2.2. It follows that $0 \in A^\ell$ and, hence, $\ell \in F$. \square

Proof of Theorem 1. Suppose $x \in D(A)$. The set $\{\sigma(\lambda, x) : \lambda \geq 0\}$ is sequentially weakly compact. Hence, there exists at least one weakly convergent subsequence of $\{\sigma(\lambda_n, x) : n=0, 1, \dots\}$; we assume that this subsequence coincides with the sequence itself. Let ℓ denote its weak limit. Then by Lemma 2, $\ell \in F$. We show next that ℓ is the strong limit of $\text{Proj}_F S(t, x)$ as $t \rightarrow \infty$. Define $y(t) := \text{Proj}_F S(t, x)$ for $t \geq 0$. Then $y(t)$ converges in norm as $t \rightarrow \infty$ to an element $y \in F$, cf. [2], Lemma 3. Consequently, $\int_0^\infty k(\lambda, t) y(t) dt$ converges in norm as $\lambda \rightarrow 0$ to y , as the averaging process defined by k is strongly regular. In order to prove that $\ell = y$ it suffices to show that $(f - y, \ell - y) \leq 0$ for all $f \in F$. The latter inequality holds true if

$$(*) \quad \lim_{\lambda \rightarrow 0} \int_0^\infty k(\lambda, t) (f - y, S(t, x) - y(t)) dt \leq 0$$

for all $f \in F$.

By virtue of the definition of $y(t)$ we have the inequality $(f - y(t), S(t, x) - y(t)) \leq 0$ for any $f \in F$, so

$$\begin{aligned} (f - y, S(t, x) - y(t)) &\leq (y(t) - y, S(t, x) - y(t)) \\ &\leq |y(t) - y| |S(t, x) - y(t)| . \end{aligned}$$

Given any $\epsilon > 0$, there exists a $t(\epsilon)$ such that $|y(t)-y| < \frac{1}{2}(\text{diam } C)^{-1}\epsilon$ for all $t \geq t(\epsilon)$, and a $\lambda(\epsilon)$ such that $\int_0^{t(\epsilon)} k(\lambda,t)dt < \frac{1}{2}(\text{diam } C)^{-2}\epsilon$ for all $\lambda < \lambda(\epsilon)$.

Then

$$\int_0^{\infty} k(\lambda,t)(f-y, S(t,x)-y(t))dt < \epsilon$$

for all $\lambda < \lambda(\epsilon)$, which proves (*).

Since any subsequence of $\{\sigma(\lambda_n, x) : n=0,1,\dots\}$ which is weakly convergent, converges to the same limit, it follows that the sequence itself is weakly convergent. This proves the theorem for $x \in D(A)$.

Now, suppose $x \in C$. Since $D(A)$ is dense in C , there exists a sequence $\{x_i : i=1,2,\dots\}$ with $x_i \in D(A)$, such that $x_i \rightarrow x$. Then we know that $\sigma(\lambda, x_i)$ is weakly convergent as $\lambda \rightarrow 0$ to ℓ_i , say, and $\ell_i \in F$. For any $w \in H$ with $|w| = 1$ we have

$$\begin{aligned} |(\sigma(\lambda, x) - \sigma(\mu, x), w)| &\leq |(\sigma(\lambda, x) - \sigma(\lambda, x_i), w)| + |(\sigma(\lambda, x_i) - \sigma(\mu, x_i), w)| \\ &\quad + |(\sigma(\mu, x) - \sigma(\mu, x_i), w)|. \end{aligned}$$

Since σ is a contraction, the first and last term of the right member can each be estimated by $|x-x_i|$, so

$$|(\sigma(\lambda, x) - \sigma(\mu, x), w)| < 2|x-x_i| + |(\sigma(\lambda, x_i) - \sigma(\mu, x_i), w)|$$

and, hence,

$$\limsup_{\lambda, \mu \rightarrow 0} |(\sigma(\lambda, x) - \sigma(\mu, x), w)| < 2|x-x_i|.$$

This implies that $\{\sigma(\lambda, x) : \lambda \geq 0\}$ is weakly Cauchy and, hence, weakly convergent as $\lambda \rightarrow 0$ to ℓ , say. We now show that $\ell \in F$. We have the inequality

$$|(\sigma(\lambda, x) - \ell, w)| \leq 2|x-x_i| + |(\sigma(\lambda, x_i) - \ell_i, w)|,$$

whence

$$\begin{aligned} |(\ell'_i - \ell, w)| &\leq 2|(\ell'_i - \sigma(\lambda, x_i), w)| + |(\sigma(\lambda, x_i) - \sigma(\lambda, x), w)| + 2|x - x_i| \\ &\leq 2|(\ell'_i - \sigma(\lambda, x_i), w)| + 3|x - x_i|. \end{aligned}$$

Given any $\varepsilon > 0$, there exists a $i(\varepsilon)$ such that $|x - x_i| < \varepsilon/6$ for all $i \geq i(\varepsilon)$.

With i thus fixed, we can choose a $\lambda(\varepsilon, i)$ such that $|(\ell'_i - \sigma(\lambda, x_i), w)| < \varepsilon/4$

for all $\lambda < \lambda(\varepsilon, i)$. It follows that $\lim_{i \rightarrow \infty} (\ell'_i - \ell, w) = 0$ for all $w \in H$, so $\ell'_i \rightarrow \ell$

and, since F is closed, $\ell \in F$.

It remains to be shown that ℓ is the strong limit of $\text{Proj}_F S(t, x)$ as $t \rightarrow \infty$. The proof is identical to the corresponding proof for $x \in D(A)$ given above and will, therefore, be omitted. \square

Let $\sigma(0, x)$ denote the weak limit of $\sigma(\lambda, x)$ as $\lambda \downarrow 0$. We have the following corollary of Theorem 1.

Corollary 3. The operator $\sigma(0, \cdot)$ is a contractive mapping of C into F , which satisfies $S(t, \sigma(0, x)) = \sigma(0, x)$ for all $x \in C$, $t \geq 0$. If k satisfies the additional condition $\lim_{\lambda \downarrow 0} \int_0^\infty |k(\lambda, t+\tau) - k(\lambda, t)| dt = 0$ for each $\tau > 0$, then also $\sigma(0, S(t, x)) = \sigma(0, x)$ for all $x \in C$, $t \geq 0$.

Proof. The first part of the corollary is an immediate consequence of Theorem 1. The second part follows from the identity

$$\begin{aligned} \sigma(\lambda, S(t, x)) &= \sigma(\lambda, x) - \int_0^t k(\lambda, \tau) S(\tau, x) d\tau \\ &\quad - \int_0^\infty (k(\lambda, \tau+t) - k(\lambda, \tau)) S(\tau+t, x) d\tau, \end{aligned}$$

where $\sigma(\lambda, x)$ converges weakly to $\sigma(0, x)$ and the remaining terms in the right member converge (strongly) to 0 as $\lambda \downarrow 0$. \square

3. Strong Convergence

We assume that the kernel k has the following additional property: for any bounded function q on $[0, \infty)$, the convergence of $\int_0^{\infty} k(\lambda, t)q(t)dt$ to a limit δ as $\lambda \rightarrow 0$ implies the convergence of $\int_0^{\infty} \int_0^{\infty} k(\lambda, t)k(\lambda, s)q(|t-s|)dsdt$ to the same limit δ as $\lambda \rightarrow 0$. We refer to this property as Property (A) of the kernel k .

In this section we prove the following theorem on the strong convergence of $\sigma(\lambda)$.

Theorem 4. Suppose $0 \in C$, $S(t, 0) = 0$, and that, for some $c \geq 0$, S satisfies the inequality

$$|S(t, u) + S(t, v)|^2 \leq |u + v|^2 + c(|u|^2 - |S(t, u)|^2 + |v|^2 - |S(t, v)|^2)$$

for all $u, v \in C$. If $\lim_{\lambda \rightarrow 0} \int_0^{\infty} |k(\lambda, t + \tau) - k(\lambda, t)| dt = 0$ for each $\tau > 0$, then $\sigma(\lambda, x)$ converges strongly as $\lambda \rightarrow 0$.

The suppositions of the theorem hold true in particular if $C = -C$ and $S(t, -x) = -S(t, x)$ for all $x \in C$.

The proof of this theorem depends upon the following lemma.

Lemma 5. Suppose $(S(t, x), S(t + \tau, x)) \rightarrow q(\tau)$ as $t \rightarrow \infty$, uniformly for $\tau \in [0, \infty)$.

If $\lim_{\lambda \rightarrow 0} \int_0^{\infty} |k(\lambda, t + \tau) - k(\lambda, t)| dt = 0$ for each $\tau > 0$, then $\sigma(\lambda, x)$ converges strongly as $\lambda \rightarrow 0$.

Proof. Let ℓ denote the weak limit of $\sigma(\lambda, x)$ as $\lambda \rightarrow 0$. We first show that

$$\lim_{\lambda \rightarrow 0} \int_0^{\infty} k(\lambda, t)q(t)dt = |\ell|^2.$$

Consider the difference $(S(t, x), \ell) - \int_0^{\infty} k(\lambda, \tau)q(\tau)d\tau$, the first term of which converges to $|\ell|^2$, as we will show presently. We have the identity

$$\begin{aligned}
(S(t, x), \ell) &= \int_0^{\infty} k(\lambda, \tau) q(\tau) d\tau \\
&= (S(t, x), \ell - \sigma(\lambda, x)) + \int_0^{\infty} k(\lambda, \tau) (S(t, x), S(\tau, x)) d\tau \\
&\quad - \int_0^{\infty} k(\lambda, \tau) (S(t, x), S(t+\tau, x)) d\tau \\
&\quad + \int_0^{\infty} k(\lambda, \tau) \{ (S(t, x), S(t+\tau, x)) - q(\tau) \} d\tau .
\end{aligned}$$

Splitting the integral in the second term of the right member, $\int_0^{\infty} = \int_0^t + \int_t^{\infty}$, and introducing a new variable of integration ($\tau' = \tau - t$) in the latter integral, we find the identity

$$\begin{aligned}
(S(t, x), \ell) &= \int_0^{\infty} k(\lambda, \tau) q(\tau) d\tau \\
&= (S(t, x), \ell - \sigma(\lambda, x)) + \int_0^t k(\lambda, \tau) (S(t, x), S(\tau, x)) d\tau \\
&\quad + \int_0^{\infty} (k(\lambda, \tau+t) - k(\lambda, \tau)) (S(t, x), S(t+\tau, x)) d\tau \\
&\quad + \int_0^{\infty} k(\lambda, \tau) \{ (S(t, x), S(t+\tau, x)) - q(\tau) \} d\tau .
\end{aligned}$$

Given any $\epsilon > 0$, there exists a $t(\epsilon)$ such that $|(S(t, x), S(t+\tau, x)) - q(\tau)| < \epsilon/4$ for all $t > t(\epsilon)$, uniformly for $\tau \in [0, \infty)$. Hence, the fourth term in the right member of the above identity is less than $\epsilon/4$ in absolute value if $t > t(\epsilon)$. Now, for a fixed $t > t(\epsilon)$, we can choose $\lambda(\epsilon, t)$ such that each of the remaining terms in the right member is less than $\epsilon/4$ in absolute value for all $\lambda < \lambda(\epsilon, t)$: the first term by virtue of the weak convergence $\sigma(\lambda, x) \rightarrow \ell$, the second by virtue of the condition $\lim_{\lambda \rightarrow 0} \int_0^t k(\lambda, \tau) d\tau = 0$ for each $t \geq 0$, and the third by virtue of the condition on k stated in the lemma. It follows that

$$(*) \quad |(S(t, x), \ell) - \int_0^{\infty} k(\lambda, \tau) q(\tau) d\tau| < \epsilon$$

for $t > t(\epsilon)$ and $\lambda < \lambda(\epsilon, t)$. Thus, $(S(t, x), \ell)$ is Cauchy and, therefore, has a limit p , say, as $t \rightarrow \infty$. As the averaging process defined by k is weakly regular, it follows that $(\sigma(\lambda, x), \ell) \rightarrow p$ as $\lambda \rightarrow 0$. But $\lim_{\lambda \rightarrow 0} (\sigma(\lambda, x), \ell) = |\ell|^2$, so with the inequality (*) it follows that

$$\lim_{\lambda \rightarrow 0} \int_0^{\infty} k(\lambda, \tau) q(\tau) d\tau = |\ell|^2.$$

By virtue of Property (A) we then have also

$$\lim_{\lambda \rightarrow 0} \int_0^{\infty} \int_0^{\infty} k(\lambda, t) k(\lambda, s) q(|t-s|) ds dt = |\ell|^2.$$

Now, consider the quantity $|\sigma(\lambda, x)|^2 = \int_0^{\infty} \int_0^{\infty} k(\lambda, t) k(\lambda, s) (S(t, x), S(s, x)) ds dt$. By supposition, there exists a bounded measurable function η defined on $[0, \infty)$, such that $\eta(\omega) \rightarrow 0$ as $\omega \rightarrow \infty$ and $|(S(t, x), S(s, x)) - q(|t-s|)| \leq \eta(\min(t, s))$. Then,

$$\begin{aligned} |\sigma(\lambda, x)|^2 &\leq \int_0^{\infty} \int_0^{\infty} k(\lambda, t) k(\lambda, s) q(|t-s|) ds dt \\ &\quad + \int_0^{\infty} \int_0^{\infty} k(\lambda, t) k(\lambda, s) \eta(\min(t, s)) ds dt. \end{aligned}$$

The first term in the right member tends to $|\ell|^2$ as $\lambda \rightarrow 0$; the second can be estimated by $2 \int_0^{\infty} k(\lambda, t) \eta(t) dt$, which tends to zero as $\lambda \rightarrow 0$. Hence,

$\limsup_{\lambda \rightarrow 0} |\sigma(\lambda, x)|^2 \leq |\ell|^2$. Since $|\sigma(\lambda, x) - \ell|^2 = |\sigma(\lambda, x)|^2 - 2(\sigma(\lambda, x), \ell) + |\ell|^2$ and $\sigma(\lambda, x) \rightarrow \ell$, it follows that $\limsup_{\lambda \rightarrow 0} |\sigma(\lambda, x) - \ell|^2 < \limsup_{\lambda \rightarrow 0} |\sigma(\lambda, x)|^2 - |\ell|^2 \leq 0$, so $\lim_{\lambda \rightarrow 0} |\sigma(\lambda, x) - \ell|^2$ exists and is equal to zero. []

Proof of Theorem 4. It suffices to prove that the inequality given in the statement of the theorem implies the uniform convergence of $(S(t, x), S(t+\tau, x))$ as $t \rightarrow \infty$. We start from the identity

$$\begin{aligned}
& (S(t+\sigma, x), S(t+\sigma+\tau, x)) - (S(t, x), S(t+\tau, x)) \\
&= (S(t+\sigma, x), S(t+\sigma+\tau, x) + S(t+\sigma, x)) - |S(t+\sigma, x)|^2 \\
&\quad - (S(t, x), S(t+\tau, x) + S(t, x)) + |S(t, x)|^2 .
\end{aligned}$$

Using the law of cosines, $2(a-b, a-c) = |a-b|^2 + |a-c|^2 - |b-c|^2$ for any three vectors $a, b, c \in H$, we find

$$\begin{aligned}
& 2\{(S(t+\sigma, x), S(t+\sigma+\tau, x)) - (S(t, x), S(t+\tau, x))\} \\
&= \{|S(t, x)|^2 - |S(t+\sigma, x)|^2\} + \{|S(t+\tau, x)|^2 - |S(t+\tau+\sigma, x)|^2\} \\
&\quad + \{|S(t+\tau+\sigma, x) + S(t+\sigma, x)|^2 - |S(t+\tau, x) + S(t, x)|^2\} ,
\end{aligned}$$

which can be estimated by virtue of the inequality given in the statement of the theorem by the quantity

$$(1+c) \{ \{|S(t, x)|^2 - |S(t+\sigma, x)|^2\} + \{|S(t+\tau, x)|^2 - |S(t+\tau+\sigma, x)|^2\} \} .$$

Since S is a contractive semigroup, $|S(t, x)|^2$ is nonincreasing with limit $q(0)$, say. Hence, for any given $\epsilon > 0$, we can find $t(\epsilon)$ such that the expressions in braces above are less than ϵ in absolute value for all $t > t(\epsilon)$. \square

4. Examples

In this section we show that the results of the preceding sections are applicable to the usual Abel and Cesàro averaging procedures. The kernel for Abel averaging is given by

$$k_A(\lambda, t) := \lambda e^{-\lambda t} , \quad t \geq 0 ,$$

and the kernel for Cesàro averaging of order α ($\alpha > 0$) is given by

$$k_{C, \alpha}(\lambda, t) := \begin{cases} \alpha \lambda (1-\lambda t)^{\alpha-1} & \text{for } 0 \leq t \leq 1/\lambda \\ 0 & \text{for } t \geq 1/\lambda . \end{cases}$$

It is trivially verified that these kernels are real-valued and nonnegative for $\lambda \geq 0$, that they satisfy the normalization condition $\int_0^{\infty} k(\lambda, t) dt = 1$, and that they are such that $\lim_{\lambda \rightarrow 0} \int_0^t k(\lambda, \tau) d\tau = 0$ for all finite t . The functions $k_A(\lambda, \cdot)$ and $k_{C, \alpha}(\lambda, \cdot)$ are of bounded variation on $[0, \infty)$, with $k_A^+(\lambda, t) = \lambda$, $k_{C, \alpha}^+(\lambda, t) = k_{C, \alpha}(\lambda, t)$ for $0 < \alpha < 1$, and $k_{C, \alpha}^+(\lambda, t) = \alpha\lambda$ for $\alpha \geq 1$. Hence, $\int_0^{\infty} d_t k^+(\lambda, t) = 0$ for $\lambda \geq 0$ in all cases, except for the (C, α) -kernel with $0 < \alpha < 1$, in which case $\int_0^{\infty} d_t k_{C, \alpha}^+(\lambda, t) = -\alpha\lambda$. Hence, $\lim_{\lambda \rightarrow 0} \int_0^{\infty} d_t k^+(\lambda, t) dt = 0$ in all cases. Thus, the conditions of Theorem 1 are satisfied for the Abel and Cesàro- (C, α) averaging procedures and we conclude that the Abel and Cesàro- (C, α) means converge weakly to a fixed point of the semigroup.

Next, we turn to the verification of the conditions on the kernel k which are necessary for the application of Theorem 4. First we verify that the Abel and Cesàro- (C, α) kernels have Property (A).

Let q be a bounded function on $[0, \infty)$. Suppose $\int_0^{\infty} k_A(\lambda, t) q(t) dt$ converges to a limit δ as $\lambda \rightarrow \infty$. Then,

$$\begin{aligned} & \int_0^{\infty} \int_0^{\infty} k_A(\lambda, t) k_A(\lambda, s) q(|t-s|) ds dt \\ &= \lambda^2 \left[\int_0^{\infty} \int_0^t e^{-\lambda(t+s)} q(t-s) ds dt + \int_0^{\infty} \int_t^{\infty} e^{-\lambda(t+s)} q(s-t) ds dt \right] \\ &= \lambda^2 \left[\int_0^{\infty} \int_0^t e^{-\lambda(2t-s)} q(s) ds dt + \int_0^{\infty} \int_0^{\infty} e^{-\lambda(2t+s)} q(s) ds dt \right] \\ &= 2\lambda^2 \int_0^{\infty} \int_0^{\infty} e^{-\lambda(2t+s)} q(s) dt ds \\ &= \int_0^{\infty} k_A(\lambda, s) q(s) ds, \end{aligned}$$

whence Property (A) follows for the Abel kernel.

For the verification of Property (A) for the Cesàro-(C, α) kernel it is more convenient to use the variable $\xi = 1/\lambda$. We put $\hat{k}_{C,\alpha}(\xi,t) := k_{C,\alpha}(1/\xi,t)$; thus, $C_a(\xi,q) := \int_0^\infty \hat{k}_{C,\alpha}(\xi,t)q(t)dt$ is the Cesàro-(C, α) mean of q . Now, suppose that $C_a(\xi;q)$ converges to a limit δ as $\xi \rightarrow \infty$. Then,

$$\begin{aligned} I &:= \int_0^\infty \int_0^\infty \hat{k}_{C,\alpha}(\xi,t)\hat{k}_{C,\alpha}(\xi,s)q(|t-s|)dsdt \\ &= \alpha^2 \xi^{-2\alpha} \left[\int_0^\xi \int_0^t (\xi-t)^{\alpha-1} (\xi-s)^{\alpha-1} q(t-s)dsdt \right. \\ &\quad \left. + \int_0^\xi \int_t^\xi (\xi-t)^{\alpha-1} (\xi-s)^{\alpha-1} q(s-t)dsdt \right] \\ &= \alpha^2 \xi^{-2\alpha} \left[\int_0^\xi \int_0^t (\xi-t)^{\alpha-1} (\xi-(t-s))^{\alpha-1} q(s)dsdt \right. \\ &\quad \left. + \int_0^\xi \int_0^{\xi-t} (\xi-t)^{\alpha-1} (\xi-(t+s))^{\alpha-1} q(s)dsdt \right]. \end{aligned}$$

Interchanging the order of the integration in both terms we obtain the expression

$$\begin{aligned} I &= \alpha^2 \xi^{-2\alpha} \left[\int_0^\xi \int_s^\xi (\xi-t)^{\alpha-1} (\xi-(t-s))^{\alpha-1} q(s)dt ds \right. \\ &\quad \left. + \int_0^\xi \int_0^{\xi-s} (\xi-t)^{\alpha-1} (\xi-(t+s))^{\alpha-1} q(s)dt ds \right]. \end{aligned}$$

The two terms inside the brackets have the same value, so

$$I = 2\alpha^2 \xi^{-2\alpha} \int_0^\xi \int_0^{\xi-s} (\xi-s-t)^{\alpha-1} (\xi-t)^{\alpha-1} q(s)dt ds .$$

Again interchanging the order of the integrations we find the expression

$$I = 2\alpha^2 \xi^{-2\alpha} \int_0^\xi (\xi-t)^{\alpha-1} \int_0^{\xi-t} (\xi-s-t)^{\alpha-1} q(s)ds dt ,$$

where the inner integral is recognized as a Cesàro- (C, α) mean of q ,

$$\begin{aligned} I &= 2\alpha \xi^{-2\alpha} \int_0^\xi (\xi-t)^{2\alpha-1} C_\alpha(\xi-t; q) dt \\ &= 2\alpha \xi^{-2\alpha} \int_0^\xi t^{2\alpha-1} C_\alpha(t; q) dt . \end{aligned}$$

Thus,

$$\begin{aligned} &\left| \int_0^\infty \int_0^\infty \hat{k}_{C, \alpha}(\xi, t) \hat{k}_{C, \alpha}(\xi, s) q(|t-s|) ds dt - \int_0^\infty \hat{k}_{C, \alpha}(\xi, t) q(t) dt \right| \\ &\leq 2\alpha \xi^{-2\alpha} \int_0^\xi t^{2\alpha-1} |C_\alpha(t; q) - \delta| dt + |C_\alpha(\xi; q) - \delta| . \end{aligned}$$

Given $\epsilon > 0$, there exists a $t(\epsilon)$ such that $|C_\alpha(t; q) - \delta| < \epsilon/3$ for all

$t > t(\epsilon)$ and, consequently, $2\alpha \int_{t(\epsilon)}^\xi t^{2\alpha-1} |C_\alpha(t; q) - \delta| dt < \epsilon/3$. Finally, $2\alpha \xi^{-2\alpha} \int_0^{t(\epsilon)} t^{2\alpha-1} |C_\alpha(t; q) - \delta| dt < \epsilon/3$ for all $\xi > \xi(\epsilon)$. Hence,

$$\lim_{\xi \rightarrow \infty} \left[\int_0^\infty \int_0^\infty \hat{k}_{C, \alpha}(\xi, t) \hat{k}_{C, \alpha}(\xi, s) q(|t-s|) ds dt - \int_0^\infty \hat{k}_{C, \alpha}(\xi, t) q(t) dt \right] = 0 ,$$

which proves Property (A) for the Cesàro- (C, α) kernel.

The condition $\lim_{\lambda \rightarrow 0} \int_0^\infty |k(\lambda, t+\tau) - k(\lambda, t)| dt = 0$ for each $\tau > 0$ is immediate for the Abel kernel. For the Cesàro- (C, α) kernel one has

$$\begin{aligned} &\int_0^\infty |k_{C, \alpha}(\lambda, t+\tau) - k_{C, \alpha}(\lambda, t)| dt \\ &= \begin{cases} (1-\lambda\tau)^\alpha + 2(\lambda\tau)^\alpha - 1 & \text{if } 0 < \alpha \leq 1 \\ 1 - (1-\lambda\tau)^\alpha & \text{if } \alpha > 1 , \end{cases} \end{aligned}$$

which tends to zero as $\lambda \rightarrow 0$.

Thus, the conditions of Theorem 4 are satisfied for the Abel and Cesàro- (C, α) averaging procedures and we conclude that, under the appropriate conditions on the semigroup, the Abel and Cesàro- (C, α) means converge strongly to a fixed point of the semigroup.

References

- [1] Baillon, J.-B., "Quelques propriétés de convergence asymptotique pour les semi-groupes de contractions impaires," C. R. Acad. Sci. Paris, 283A (1976), 75-78.
- [2] Baillon, J.-B. and Brézis, H., "Une remarque sur le comportement asymptotique des semigroupes non linéaires," Houston J. of Math. 2 (1976), 5-7.
- [3] Brézis, H. and Browder, F. E., "Nonlinear ergodic theorems," Bull. Amer. Math. Soc. 82 (1976), 959-961.
- [4] Grandall, M. G. and Pazy, A., "Semi-groups of nonlinear contractions and dissipative sets," J. of Functional Anal. 3 (1969), 376-418.
- [5] Hardy, G. H., Divergent Series, Oxford (1949).
- [6] Kaper, H. G. and Leaf, G. K., "Nonlinear ergodic theorems for Abel means," Applied Mathematics Div., Argonne National Lab, ANL-79-49.
- [7] Zaanen, A. C., Integration, 2nd Edition, North-Holland Publ. Co. (1967).

Distribution for ANL-79-50**Internal:**

G. T. Garvey	G. K. Leaf (20)
R. J. Royston	M. Gibson (14)
J. N. Lyness	A. B. Krisciunas
M. Minkoff	ANL Contract File
P. C. Messina	ANL Libraries (5)
H. G. Kaper (20)	TIS Files (6)

External:

DOE-TIC, for distribution per UC-32 (205)
 Manager, Chicago Operations and Regional Office, DOE
 Chief, Office of Patent Counsel, DOE-CORO
 President, Argonne Universities Association
 Applied Mathematics Division Review Committee:
 P. J. Eberlein, SUNY at Buffalo
 G. Estrin, U. California, Los Angeles
 W. M. Gentleman, U. Waterloo
 J. M. Ortega, North Carolina State U.
 E. N. Pinson, Bell Telephone Labs.
 S. Rosen, Purdue U.
 D. M. Young, Jr., U. Texas, Austin
 J. F. G. Auchmuty, Indiana U.
 J. Batt, Mathematisches Inst. der Universität München, Germany
 H. Brézis, Paris, France
 M. G. Crandall, U. Wisconsin, Madison
 O. Diekmann, Mathematisch Centrum, Amsterdam, The Netherlands
 C. Goldstein, Brookhaven National Lab.
 J. A. Goldstein, Tulane U.
 J. Grasman, Mathematisch Centrum, Amsterdam, The Netherlands
 W. Greenberg, Virginia Polytechnic Inst. and State U.
 J. Hejtmánek, Universität Wien, Vienna, Austria
 F. W. Larsen, Los Alamos Scientific Lab.
 C. G. Lekkerkerker, Universiteit van Amsterdam, Amsterdam, The Netherlands
 T. W. Mullikin, Purdue U.
 P. Nelson, Jr., Texas Tech U., Lubbock
 H. Neunzert, Universitaet Kaiserslautern, Kaiserslautern, Germany
 C. V. Pao, North Carolina State U.
 L. Peletier, Rijksuniversiteit Leiden, Leiden, The Netherlands
 S. Reich, U. Southern California
 M. E. Rose, Exxon Production Research Co., Houston
 W. Schappacher, II. Mathematisches Institut, Graz, Austria
 E. Schechter, Duke U.
 M. E. Schonbek, Northwestern U.
 E. J. Veling, Mathematisch Centrum, Amsterdam, The Netherlands
 J. Voigt, Virginia Polytechnic Inst. and State U.
 A. Wehrl, Institut für Theoretische Physik, Vienna, Austria